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1. BLINONMHUTDL CNOXeHUe AeCATUYHbIX

Apoben:
2)0,3 + 0,4 = 6)0,4 + 0,7 =
B)0,8 + 3,3 = r)0,38 + 0,5 =
1)0,88+0,22=| ()0,02 +1,99 =

%)1,25 + 3,755 =
3)0,555 + 0,555 =




1. BbINOMTHUTb CJI0XeHUe OeCATUYHbIX
Apoben:

n)2,375 + 3,725 =
K)5,055 + 0,36 =
13,004 + 1,999 =
M)0,0103 + 7,2957 =

H)13,909 + 2,222 =

0)0,9999 + 0,1111 =




2. BbINONTHUTbL BblYUTaHUe OeCATUYHbIX

anobeun:
2)0,5 — 0,3 =
6)1,4 — 0,8 =
B)7,8 — 3,3 =
r)0,78 — 0,5 =
mN1,02— 0,22 =
€)3,02 — 1,99 =

%)1,25 — 0,755 =




2. BbINONTHUTbL BblYUTaHUe OeCATUYHbIX
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3)1,555 — 0,666 =
n)3,375 — 2,775 =
K)5,055 — 0,36 =
13,004 — 1,999 =
M)9,0103 — 7,2957 =
H)13,19 — 2,222 =
0)1,1111 — 0,9999 =
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